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The Cold War began after

(A) Disintegration of Soviet Russia
(B) Second World War

(C) Establishment of League of Nat
(D) First World War
Ifthe diameter of the base of a cylindrical
pillar is 4m and its height is 21 m, then
the cost of construction of the pillar at
Rs. 1.50 per cubic metre is

(A) Rs. 410 (B) Rs. 400

(C) Rs. 396 (D) Rs. 420

The Autobiography of Nelson Mandela is
(A) Walking with Wind

(B) Freedom in Exile

(C) Long Walk to Freedom

(D) A Testament of Hope

The most unique mammalian
characteristic is the presence of

(A) Mammary glands

(B) Eyes

(C) Feet

(D) Heart

Development that meets the need of the
presentgeneration without compromising
the ability of the future generation to
meet their own needs is known.as

(A) Natural Conservation

(B) Sustainable Development

(C) Ecological Balance
(D) Environmental Gradation
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AUKUS partnership is between

(A) Australia-Russia.-U.S.

M Australia-Ukrain-U.S.

(C) Australia-U.K.-Russia

(D) Australia-U.K.-U.S. [3)§5)
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8. Select the correct mirror image of the given
figure when the mirror is placed at line AB.

A
Z <
o[
(C) D) %4

9. Nitrogen fixing legume-bacteria is
(A) Rhodospirillum (B) Rhizobium
(C) Anabacter (D) Plasmodium

Scheme to remove physical interaction as
much as possible for income tax payers is
(A) Tax-X Scheme

(B) FAME-II Scheme

(C) Faceless tax scheme

(D) FAME-I Scheme

An extended family tree outlining familial
relations across generations is termeéd as
(A) Sigillography ,éBﬁ}senealogy

(C) Epigraphy (D) None of these
Simple intereston a certain sum for 6 years

10.

11.

12.

is % of the sum. The rate of interest is
®) 61%
2

(D) 6%

(A) 8%

1
C) 8=%
©) 83

MIDI stands for
Memory Instruction Device Interface
Memory Instruction Digital Interface
(C) Musical Instruction Device Interface
(D) Musical Instrument Digital Interface

13.

14. Which number come in the place of

question mark ?

jgy9(18,15,45,41,?
164 (B) 65

(C) 195 D) 74
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D) Fee fefreet ot
o Forg % T R R - we T ?
11,9, 18, 15, 45, 41, ?
(A) 164 (B) 65
(C) 195 ) 74
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| a0 3 bW
If 10 be added to four times a certain 15. a aa Rl %l
number, the result is 5 less than b times s
the number. The number is g['\@ﬂj_ (B) 20
(A) 20 D) 35
(A) 25 B) 20 o 15 ;
(Y15 (D) 35 (C);’qﬁaﬁﬂgrgmﬁvawﬁa%m%f%
Shaving soaps contain a gum called 16. ar{a% ﬁ'&%mwm
__is added while making them. — ‘.
(A) glycerol (A) Wﬁalt HTOR %@A
(B) trisodium phosphate R B) e Y i
(C) rosin %’@ (©) e
(D) borax (D)[CHOG OUS & F Io2 Fox %
Consider the word TRICHOGENOUS, on | 17. TR 5, 84 A 10 3 AGH T,
reversing the word above and taking the aﬁ 958 a4 > it
At 6 8% and 10 letters and forming the iﬁalw ®) near, L
word using all of them, that word means () far = )
(A) far (B) near (o long (D) inquire
(C) long (D) inquire i T
Borrowing by the Government of Indiais | 18. AR R e T 2|
defined under of Constitution — o ‘
of India. _ ) 3@1 29 B) oliv&" 2293
(A) Article 29 (B) Article 293 ¢y SR 14 (D) FT=D% 292
(C) Article 14 (D) Article 292 ( RSy 2 .
Which Section of IT Act deals with the b 19. S IRIERL 2 7 RO
legal recognition of electronic records(? &) A AT ®) 75
(A) Section 6 (B) Section® Ejé% ?ITéf‘i (D) a1 2
(C) Section 4 (D) Section'2 cofafad § @ FA-A T IeEwe =
Which of the followingyiis 20. - 37
example for Cypsela form of a1 ®U H1 IaE A
Dry indehiscent fruit ? (A) T8 (B) I
(A) Wheat 8%; gmﬁ (C) e (D) ¥
(C) Marigold ak ‘Cast W =
The English word ‘Caste’ is derived from | 21. maasiwm%\ Caste
Portuguese word B) Casto
(C) Cast (D) Casti o
The fraction for the recurring decimal | 99, IrEdl WA 0.535353...%%?&3?@
0.535353.... 18 n-9 28 27
28 2 ‘gn &) 53 ® 3
@ 53 ®) 53 2
53 D) 26 (C) D) =
99 53 wiF frgid :
% performs a power on self 23. %% oy 8 N e
fest that checks the hardware devices ‘é?ﬂ?(a[t%
are present and functioning properly. ®q K %{a - .
(A) South bridge ~ (B) North Bridge (é) 3:1“1 \D\ BIOS
(C) North chipset BIOS ©)
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24,

25.

26.

sy
ot (C) Cucumber

27.

28.

\ 0

(A) North-East (B) North-West
,(,G)/Sguth-West (D) South-East

International Day of Democracy
celebrated every year on

(A) January 26t

(B) September 15t

(C) August 15t

(D) None of the above

Identify the odd one out.

(A) Papaya (B) Cabbage

(D) Brinjal

A bike covers g certain distance at the
speed of 64 km/hrin 8 hours, Ifabikewasto

cover the same distance in approximately
6 hours, at what approximate speed

18

should the bike trave] ?
(A) 75 km/hr (B) 85 km/hr
(C) 70 km/hr (D) 90 km/hr

Wilkinson catalyst is a complex
used for the hydrogenation of alkenes'

(A) Ruthenium (B) Platinum
(C) Rhodium (D) Palladium

Direction 29-31 : Read the followinginformation
carefully and answer the questions that follow :

L

IL
III.
IV.

V.

29.

Five friends P, Q, R, S, and T travelled to
five different cities to Chennai, Kolkata,
Delhi, Bangalore and Hyderabad by five
different modes to transport of Bus, Train,
Aeroplane, Car and Boat from Mumbai.
The person who travelled to Delhi did not
travel by boat.

R went to Bangalore by car and Q went to
Kolkata by aeroplane.

S travelled by boat whereas T travelled by
train. _
Mumbai is not connected by bus to Delhi
and Chennai.

Which of the following combinations of
person and mode is not correct ?

(A) R-Car (B) T-Aeroplane
(C) S—Boat (D) P-Bus

aREE (C) S -91|

CMMS - S3
24 U Yfcrmaren gy o
T: AN qEar 3 oy, qcml Iﬁ%m%;ﬁ;
CHMT 10 Bt s7e 2 -
Wﬁgﬁﬁ;{-mfgmw%? 1 #1 7
(%) sl (B) -
o5 ((;) afm-qﬁ;\;m (D) afegon -
' m%?mmh{’Iqmmm
(A) 26 St
(B) 15 fodan
(©) 153
(D) IF e
26. faww & ygam #1 ) P
Mm (B) My Ly
(C) Feet D) Fm L—‘k% 5
27. U SeF 8 W H 64 bl /i 1 1 & o
Aferm 3 @ =t 21 o o o
T 6 5 T e FT 01 A, e A
FATE Tl @ AT et =
(A) 75 Fmfl/g By 8 et
(C) 70 fepeft /w1 (D) 90 fweft /7
28. fafewrm 3o sl 3 ereiedim 27
T Sfea 2| ‘
(A) wefrm (B) wifew
(C) Ufezm (D) ¥sifezm

Feomfadwr 29-31 - frerforfiaa gem =1 e 2 afzw 3w
T o IR Aforg

I W@ P, Q R, S, 3 T ufe firs 7 =%,
ahicTeraT, g, iR afk Reve de of w5,
ATAMEY, T SR, R S A ZRT G 7 2

I1. Tegh v aren safdq am @ =& sman|

I1l. R%R F SeR & mr 3it Q #am §iE a0
TR AT

IV. S/ g1 a1 lal & siafeh T et g O
T 2|

V. W,Wmﬁ—@ﬁ(ﬁﬂéﬁ“@:ﬂgx

99, frmfofad # @ sufda of e 1 A -w
TS T AR R 0 )
(A) R-®T AB) T - TR SRS
D) P -
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30. The person travelling to Delhi went by
which of the following modes *

(A) Aeroplane Train
(C) Car (D) Bus

31. Which of the following combinations 1s
tryefor S ? '

) Chennai — Boat (B) Chennai — Bus

(C) Datainadequate (D) Delhi—Bus
32. In this question, two statements are given
clusions. Choose the

followed by two con
Conclusion (s) which best fit (s) logically.

< Statements :
My 1. No man is woman.
L 2. No woman is lady. OF O]
. HEED
Conclusions : B L

I. No man is lady.
II. me men are not woman.
) Neither conclusion I nor II follows

(B) Only conclusion I follows
(C) Both conclusions I and II follows

(D) Only conclusion II follows

33.\ A sum of Rs. 6,240 is paid off in
30 installments such that each installment
isRs. 10morethan theprecedinginsta]]ment.
The value of the first installment is

(A) Rs. 60 (B) Rs. 30
(C) Rs. 63 (D) Rs. 36

34. In a marchpast, seven persons are
standing in a row. Q 1s standing left to
R but right to P.O is standing right to
N and left to P. Similarly, S is standing
to R and left to T. l‘éind out who is

right
standing in the middle *
) Q B) R
() O (D) P
the

If a person gets infected with

SARS-CoV-2 virus 14 days after the
second shot of the vaccine, it is called as

(A) Break even infection
(B) Break back infection

(C) Broken infection
Breakthrough infection
to

@36@.} Bears undergo a period of

é‘f‘ escape stress during winter.

s (A) Migration (B) Aestivation
(C) Sporulation (D) Hibernation

X15
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35.
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/7/ Where we find Adai-dinka-Jhampara 317.

w\%

;“‘" 1o CMMS - S3

e - fam 1 -gmam wfese wef w fom 2 7

mosque ? e
(A) Ajmer (B) Agra et (A) AT (B) &A1
(C) Janpur (D) Delhi R (©) SR ©) feh
38. Some amount out of Rs. 7,000 was lent | 38, 7,000%% ©# %z nfg-[-ﬁ o, gl ad 121
0 .. W 6 % q
at 6% p.a. and the remaining at 4% p.a. 3T f&a T o 3 o ) 49 i A1 7 |
If the total simple interest from both the 3w e T ) #f 5 a4 e g s
fractions in 5 years was Rs 1,600, the 1,600 WQ(’?HT% @6 %, Uﬁﬂﬁﬂﬁm
S nt at 6% p.a. was ?ﬁ"'gﬂf\m
5,000 452,000 (A) 5,000 (B) 2,000
(€)' 3,500 (D) none of these (C) 3,500 D) 778 @ #rd 7
39. Ina givep Url http: //www.xyz.com/tutor/ | 89, U fau 70 Url http://www xyz.com/tutor/
start/main.htm, www.xyz.com is a start/main.htm, ¥ www.xyz.com 7%
A) Path i ' o2 o
(A) ) ,éBﬁ)omam name OEC B) A m
(C) File name (D) Protocol (C) P1ge (D) 2wk
40. 5:35:: 40. 5:35::
(A) 11:55 B) 9:45 (A) 11:55 B) 9:45
() 3:24 Py (©) 3: 24 D) 7:77
41. In October 2021, World Bank has | 41. s 2021 ¥, fav &% 3 Frferfige @ @ &=
approved a USD 150 million loan program T Hofere 150 fferm st zer & =0
for which of the following States ? Waﬁqﬁ@a% ?
(A) Punjab (B) Rajasthan (A) USTTE (B) TS=I™
(C) Tamil Nadu (D) Haryana (C) dftreTg (D) ®femom
42. Which of the following countries will host |\ ¢42. a§ 2022 # Freforfaa o § FH-71 =1 83&?
the second United Nations World Geospatial g forvar sy -wenfe g o I A T 7
Information Congress in the year 20222 (A) 9T
(A) India (B)
(B) Afghanistan
(C) Sr1 Lanka
(D) None of the above (D) 3qilai| o8 I A
43. In Denmark, the movement has been so | 43, Twwh ¥ HH-A1 JRIEH T qHel 2
successful that practically every farmer TR €9 & g U fhae = R-Reca ';a;'{
is a member of which type of following N T e e ?
®mz® farming ? (A) HEH Gt
ﬁ-.’:‘ (A) Co-operative farming &
= (B) Truck farming (g) T;';éﬁ £ &
(C) Viticulture © ¥ o
(D) Mixed farming /('D/ ad o R
44. According to Human Development Index | 44. 9 2016 & w4 ﬁﬁf&j EHTH F FER I
of 2016 the rank of South Korea was T &7 T w7 °T
(A) 25 B) 18 A) 25 (B) 18
(C) 14 (D) 130 (©) 14 ‘ (D) 130
45. unit accepts instructions and | 45. TH 3"1%“} SIS IR
data from the user with the help of input o ATTE gﬁ?mﬁ ) WETUA ¥ W HI H R
devices,
(A) Storage unit (B) Output unit (A‘) ‘ IWQ_ \l;: Yin:?jc:fg
27 Control unit (D) Input unit (©) Frasor gaig (D) Ty
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46.

47.

48.

49.

50.
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fahyarflit tQR —ha QR Code-based digital
Nt mechanism developed by

(A) State Bank of India '

(B) Reserve Bank of India

(C) NABARD

(D) None of the above

— software enables users to query
e index and that usually returns

results in term relevancy ranked order.
(D) Spider
(A) Behavioural approach
(D) Integral approach
provided by our Constitution ?
Right against Exploitation
Alf :
stored in the cytoplasm in the formf
(C) golgi bodies
into two smaller and identical
painted with black color and
of adjacent faces that do not
painted with yellow color and the
cuboids are cut into 32 smaller
two black and one yellow faces *

46.

47.

48.

éé\)(Database
Indexing software

It is an approach oy perspective used to
(B) Dialectical approach

Which of the following is/
ﬁ Right to Freedom

C

the above

(A) inclusion bodies
(D) intrusion bodies
cuboids. The faces of dimensions
the rest of its faces are painted
include any face of dimensions
rest of its faces are painted with
and identical cubes. How many
(A) 4 (B) 6

(C) Search engine mechanism
study the society in a class angle
(C) Holistic approach
are the Fundamental Right/s
Right to Equality
Reserve material in prokaryotic cellg'are
(B) galactic bodies
A cube of volume 64 cm? is cut
4 x 4 of one of the cuboids are
with yellow color. One pair
4 x 4 of the other cuboid are
black color. Now each of the two
of the smaller cubes have exactl
C) 5 (D) 3

49.

50.

51.

N
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(A) et T2 A%
(B) %mﬁaasﬁaﬁ
Ay st 8 A A
7 e 1 2 S AT a7
geeran T FH ° TR0 B R

(D) 15T
ot % gfee @ THIS 1 ST FT 3
10 FuanT fohaT ST ATelT U gfees

E 2
ﬁﬂ%ﬁﬁm
e

(

(D) 1 gfeeehion '

tifers TR 2/E 7

(A) s

IR F 3
g7

MENRIEED
o4 | fohe &9 1 S B
(A) IGEACH]

B) ,
(C) et Feprat

(D) gy fehrai
64 cm® IFAT & T U9 FI & T T T

BT H 1T ST R | U BT & 4 x 4
A TS R HI T @ T S 2o
sﬁwq@iﬁqﬁr’n@bnm%laﬁm%
4 x 4 IHR a1 foRet oft g3 ) B
AT 73 i et T @ o g Y9 E
mhéﬁnmé|maﬁwﬁ@vé’f
1 32 B I THR 5 1 ey fayy s 217
qﬁﬁ@%ﬁ%qm@fﬁawmﬂ“
g3 it & 7

(A) 4
) b6

B) 6
D) 8
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52.

53.

54.

55.

56.
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57.

58.

59.
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Partnership for Clean Fuels and Vehicles

Winitiative by
A) UNESCO

(B) UNDP

(C) FAO

(D) UNEP

When did Mohammad-bin-Quasim
invaded over India ?

(A) 718 QE (B) 714 C.E.
(C) 719 C.E. (D) 712 C.E.

In a row of ten boys, when
Rohit was shifted to two places
towards the left, he became
seventh from the left end.
What was his earlier position

F
from the right end of the row ? 7 L
§A§ Fourth Second
C) Sixth First

Allen’s rule is with respect to
(A) Fishes (B) Mammals
(C) Urochordates (D) Invertebrate

Insert the missing character.

Z |7 [s [19 ] Wl
R [0OB[?

? |GgC |3

(A) WLI (B) UOI

(©) VKJ D" WKJ

National Bank for Agriculture and
Rural Development (NABARD) came
into existence on
(A) 12 September 1994

2 July 1994
(C) 12 July 1982
(D) None of the above &

LCD stands for (==
(A) Liquid Cathod ray Display
(B) Liquid Crystal Display
Liquid Color Display
(D) Liquid Code Display
The largest tributary of the river Indus is

(A) Chenab (B) Ravi
(C) Sutlej (D) Yamuna

]

—

52.

53.

54.

.

56.

57.

58.

59.
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TR ST Fefi7 wpe e A (PCFY)
ST 3R ey oy
(A) UNESCO
(B) UNDP
(C) FAO
(D) UNEP

BRHE 5~ SFfm 3 e o o sy o o7 7
(A) 718 C.E. (B) 714 C.E.
(C) 719 C.E. M) 712 C.E.
T TISh! ohl T Ul o, st Ofee 1 2 7 Ao

fagent fean T, @' ard ofa @ AEE @ omy
ufed o ITd o7d B 3Tl fumeht feufa = o 7
(A) =heft (B) z&dt
(C) B3 (D) "t
e &1 fam FHed § 2
(A) Feferat (B) wul
(C) T (D) et
g 7l g
7z |2 [s ate
R |0 |? @
? |a |C
(A) WLI (B) U0I
(C) VKJ (D) WKJ
(NABARD) ___ # 3ffwie
T 3T T |
(A) 12%&1994
B) 12 1994
(C) 123 1982
(D) IR B | I T
TaEE (LCD) & ferg el ? |
A) fafre Here t feext
(B) fafare frea feuat
(C) farfare wert ferwt
(D) forfwre wie fevat
ity 7 o e ard e 1
(A) W (B) U
(C) waet (D) =g
X156
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India has ratified which among the

following International Conventions on

corruption and bribery ?

(A) Chicago Convention against
Corruption 2000 .

§B§ UN Convention against Corruption 2003

C) New Delhi Convention against
Corruption 1998

(D) Geneva Convention

The exaggerated response of the immune
system to certain antigens present in the
environment is called

(A) Auto Immunity (B) Synergy

(C) Syllogism (D) Allergy

How many odd numbers are there in
the sequence which are immediately

preceded and also immediately followed

by an even number ?

4) 3 B) 2

©€) 4 D) 1

While measuring inflation, we take into
account a number of goods and

services used by the people of a country.
(A) Large (B) Zero
(C) Infinity (D) Small

What is the maximum number of pieces
into which a cube can be cut by 16 cuts ?

(A) 222 (B) 256
(C) 252 (D) 216

National Dairy Research Institute
(NDRI) is established in [E:E
(A) 1966 (B) 1988 465
(C) 1960 (D) 1987

Who was the author of Devichandra
Guptam ?

(A) Vishakadatta  (B) Rajashekara
(C) Shanku (D) Dandi

If 15 men can build a wall 108 m long in
6 days, what length of similar wall can
be built by 25 men in 3 days ?
(A) 88 m (B)-85 m
(C) 95 m ) 90 m
Golden Crescent of opium production

refers to

(A) Nepal-Pak-Afghan
(B) Iran-Pak-Afghan
(C) Bangla-Pak-Afghan
(D) Iraq-Pak-Afghan

-10-

60.

61.

62.

63.

64.

65.

66.

67.
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371 Freaa@itt T et 4 3
e rers 1 12 7 "
(A)W%Wﬁwﬁﬁmzooo
(B)Wa;mmmmzooa
() v ¥ fei 7 fag F 1995
(D) ot F=T o faeg afe
e 3 3ufeerd §@ Afwr % fawg st
agaﬁrarﬁrgﬁlﬁm___mr?ﬁ%l
() @t (B) f

i (D) et

= Te IS OH AR ¢
R g 33

")

B

@) 3 ® 2 ==
(©) 4 D) 1
@wﬁﬁﬁmm,m@%m%aﬁw
ST Y TS aEge IR daTeT F
e W frem & 2

&) = @) 7=
(C) ¥ (D) Bt

TF T H 16 FTE g/ AfFwan fFa g5 5
T ST GHAT & ¢ K.
(A) 222 B) 256 . ~
(C) 252 D) 216 . [y
NDRI & TIT9AT & g3 ¢ - B°

(A) 1966 (B) 1988
(C) 1960 Dy 1987

g T & AEE B 7

(&) foremrea (B) TG

©€) 1% (D) =t o
afe 15 XY 108 et osft dar 6 T 5 5
TEd 8, At 25 TEN GR1 A fe) ® gw E
& feraht SiaTE ST ST EeRd @ 7

(A) 88 m (B) 85 m

(€) 95 m (D) 90 m

IFEW I 1 @ify e ¢
REIDG A

(A) AT - qTeh - BT
(B) $0A-9Teh - 3A®H
(C) STEAT-Teh - 3BT
(DD) ST - T~ 3T -
}’\3 %}6 Y

l
J X
R Xt 7
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69. ‘If. ‘ma august march’ is written as
mg Iwm cao apd ‘december july march’
as ‘sow I%m skz’ and ‘may april december’

69. fe ‘may august march’ &1 ‘hig lwm cao’
‘december july march’ ! ‘sow lwm

/Z;%K })f{g sow’, then ‘april’ is written as :g:’%m%ag)r% ({le?:l?%ﬁé%x hig
' kgx (B) sl.{z A) kgx o I(B) skz
(C) sow (D) hig (C) sow (D) hig
70. Cor}sidetr the following statements about | 70, e gt a1 Syderare = =i # Frfetaa
gl S S OF economy. ot o fererm 1fsro)
%s% I. Distribution under socialism is 1. THTSETE &% ded fadron wn i FEa T
e supposed to be based on what e T ST 2 3 3E w AR A
people need and not on what they @t TFa 3
can afford to purchase. ~
II. In a sociali i I1. THTSETEl BHTS H BT 78 74
1st society the . £ .
government decides what goods are Al - \ i
to be produced in accordance with AT fora agaA = 3AEA
the needs of society. ﬁFﬂTTﬂF}T%\ )
Choose the right option given below : fraferfaa & & @l fashes =1 =7+
((g; %(})lth the statements I and 1T are correct (A) At e 1 o 11w 2
e statement II is correct
By Fua 11 @& 2
(C) Both the statements I and II are S
incokrect (C) e 1 3fi 11 3 &l 1
(D) The statement I is correct (D) FeA 1 &R
71. Abusthatconnectstoall three components | 71. @fi i (¥1.41 I, TH, 1O feams)=1 S+
(CPU, memory, I/O dws called a 1ol o ! hEd ©
(A) Public bus System bus (A) dfseteh 5 B) f=m s
(C) Private bus (D) None of these (C) Wigae sid (D) 78 ¥ % T
72. The government may spend an amount 72. TWHR T SR THidd [hT U T ¥ SO
equal to the revenue it collects, this is i &l = S a1 B, 38 FEd B
known as M T
(A) Balanced budget ) m —
(B) Surplus budget B
(C) Fiscal budget (C) TSt st
(D) Deficit budget D) =T HT T
73. A system of dual control at t.he district 73. arferfam , 186119 F NI
level isintroduced under Section ______ R W BRTEveEi gore! 1 I &6
of the Police Act, 1861. N TR h
B
A) 5 (B) 4 b A) 5 B) 4
©) 6 (D) 3 o ©) 6 D) 3
74. Chess Grandmaster from India after | 74, STRG 1A TSR HE Soiahs TEHRT
who crossed the ELO Rating of 2500, At Staeasr W = 2500 F ELO
in Vezerkepzo Grandmaster Chess T = o o @

Tournament at Budapest, Hungary is

(A) R. Raja Rithvik (A) 3T, TS Hic®

(B) Raj Rothak (B) W ﬁa:*
(C) Pankaj Rothak (C) Uahst Udsh
(D) Abhimanyu Mishra (D) arfv=y s
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Which of the following symbols must an

e-mail address have ?
A) & ®
© @ (D) none of these
Sita is the niece of Ashok, Ashok's
mother is Lakshmi. Kalyani is Lakshmi’s
mother. Kalyani’s husband is Gopal.
Parvathi is the mother-in-law of Gopal.
How is Sita related to Gopal ?
(A) Sita is Gopal’s great granddaughter
(B) Gopal is Sita’s father
(C) Grandniece
(D) Great grandson’s daughter "
. 7
100 J qf heat is produced each W%
second in a 4Q) resistance. Find B8
the potential difference across
the resistor. “
A) 15V B) 10V
©C) 20V (D) 5V
IPC has total Sections.
A) 515 (B) 511
(©) 516 (D) 510
—is a device that moves in all
distribution and controls the movement
of the cursor.
(A) Joystick (B) Keyboard
ouse (D) Nonewf\these
The transformation of watervapour into |
water is called as
(A) Sublimation
(B) Condensation
vaporation
(D) None of the above
On a journey across Kolkata, a taxi
averages 50 km per hour for 50% of the
distance. 40 km per hour for 40% of it
and 20 km per hour for the remaining.
The average speed in km/hour, for the
whole journey is
(A) 35 (B) 40
(C) 45 (D) 42
Tiny bodies that consist of mainly genetic
material and a long tail that helps them
to move towards the female germ-cell is
(A) Thrombocytes (g;)l)cyt(‘,ﬂ
(C) Neutrophils APY Sperms

w
/

75.

76.

78.

79.

80.

81.

?

U@éﬁﬁﬁﬁﬁﬂ%ﬁﬁﬁﬁﬁﬁ?-ﬁmﬁ
wifeu 7
(B)

(/\/) fﬁ (D) 37H B g e
e 319Tve ) wefishl 2 | AT ) AT AL R)
oot et 2 v 21 FeATof 1 afd T
3| qreft mrarer £ w2 | e Mo & g
SR Gaiferd 2 7
iy e e Y ot 2

(B) et dien 1 foan 2

(C) TSl

(D) Terd =

e 4() :rfaﬁuﬁqfaa%gmo.l?mmaﬁ
St 21 feiees o farvemar 3 #4

CMMS - S3

A) 15V B) 10V

(C) 20V M) 5V

FEdE § Fe I 2|

) 515 511

(C) 516 (D) 510
s gfEa g o ot faemed e 2
3 et &Y i = e et R

(A) Srafees (B) F=r2

(C) w13Y (D) 398 & F1
AT T ST § qREdH FEeATdT 2
INEEEEIEEIRE 2 -
(B) Hamw >
(C) aTsdieRTor

(D) I ¥ ¥+ T81

et 1 A W, 50% 0 F fog o =t =
3fga i 50 fort i o2 21 40% P F
40 o) Wi w1 ot I g 20 fFdft wfa v =
0 2| @ arn i iy (et m ) @

(A) 35 (B) 40

€) 45 (D) 42

B2 e R srfvetera: snarfe werd
GEIRGEEERICAISIRE R cek Ak
3N e N WER 8

(A) vsgge (B) gty
() e (D) YT
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In Index number of which year
price 18 assumed to be 100 ?
(A) Base year .
(B) Current year

(C) Selection of prices

(D) None of these

|
I

|

|

18 a set of rules that enables
a user to transfer files from one system
to another.

TP (B) http

(C) Telnet (D) None of these
How many odd days are there in 400 days ?
A) 2 B) 4
(C) 3 (D) None of these

|

A marb'le block of mass 2 kg lying on ice
when given a velocity of 6ms! is stopped

by friction in 10s. Then the co-efficient of
friction is

CMMS - S3

83.  feret = % gerih 1 e 100 Ta fem TR e 1

(A) 31T ad

(B) =e] ad

(C) Hedt @1 aa-

(D) z | =18 =t e
84. Tt @ um anea 3 A 0F

) Uk faen A el § wEd s 3 |

HEH AT R |

(A) FTP (B) http

(C) ez (D) 348 & #ré F#
85. 400%4?1?%%@%&1:%:%?4

A) 2 ®B) 4

() 3 (D) T & %1 7

86. awmzﬁsmmqa@mm@’g@aq%q
i r@%,aaestﬁ/ﬁam%n%mam%,ﬁtmw

%ﬁ 2T 10 Ak & T ST | ST 6 T R
i

(A) 0.06 (B) 0.03 (A) 0.06 (B) 0.03
(C) 0.01 (D) 0.02 (C) 0.01 (D) 0.02 '
The layer of the atmosphere in which | g7, Wﬁﬁmﬁqﬁwﬁﬁﬁa}%ﬁaﬁ
raf(_ilio wg\gas 1t{rans}r:ﬁtted from earth are e uraﬁqwnaﬁﬁ%ﬁ?ﬁ‘é
etlected back to t ¥ .

jf‘ff)/l‘(‘/)tnosphereO e.e ; Mesosphere (A) AT " (B) ﬁ'@l@ﬁlﬂ'{
(C) Troposphere (D) Stratosphere (C) &y wed (D) ®Hd™ ASA
Which of the following Portal has been ()'gg. fr=fafRaa § @ sW-= T TSR HIHR
developed by the Central Government in FETTETS a1s AT & WIKd B T =EHH
order to provide a platform for senior citizens —
in India seeking employment opportusities ?
(A) CPGRAMS Portal &) CPGRAMS W
(B) COWIN Portal (B) whifed arda
(C) SACRED Portal (C) s tﬁéa'
(D) None of the above D) I § | 1S T8

' i ‘ T I\
If the third day of a month is Tuesday, 89. fe frdt o™ w1 e i weEr .
which of the following would be the 4 R F 973 f ¥ = 9 e P R a o -w
day before the 27" day of that month ? g ?
(A) Wednesday ) Monday (A) FHER \E? SIS
(C) Sunday (D) Tuesday (C) Taar (D) ¥TAER
In which of the modes of cross pollination | 90, R oo sy e farfRy o orer Sy R 13018 3K
the pollination is brought about by wind ? A W
i (B) TEgfre
e 0 e
(C) Entomophily B a9
(D) Anemophily y

b ¢

~—

X1

13



91.

92,

93.

94.

95.

X15

Join Telegram Group "HaryanadJobs.in"

Englisp Language
—=—1 Language
Fill in the blank  with appropriate
word for cry of , creature from the
alternatiyeg given below it

Elephantg
\
(A) bellow (B) warble

(D) gibber

Torn ang n poor condition
(A) Tattereq (B) Taboo
(C) Tedious (D) Tardy

Fill in the blank with suitable article
from the alternativeg given below it,

———— Poor depend upon the rich,
A) A

(B) The

0 article requireq

(D) An

In the following sentence
has been given in  Active/
Passive vojce. Out of the four
alternativeg Suggested, select
the one which best expresse$
the same sentence in Passive/
Active voice.

Why did your aunt not give me

some money ?

(A) Why I am not given some money
by your aunt ?

(B) Why is some money not given for
me by your aunt ?

(C) Why were some money not given
for you by my aunt ?

(D) Why was some money not given to
me by your aunt ?

Fill in the blank with appropriate
phrasal verbs from the alternatives
given below it.

How much will the auction ?
(A) Bring forth (B) Bring in

(C) Bring ahout (D) Bring out

CMMS ~S3

fecdt v

96. el ferefl 1% T A Aty oy
11 99T Grmm e ?ng,"
(A) srfasrfaa
(B) 3¥=ifaa
(e
(D) 3T @ IS T

97. mﬁ__—%'(mﬁﬁm)
¢y e
(B) feetfeema
(C) s
(D) 59 8 HI3 7

98" H: + fagm = Tt
I 2|
(A)
(B) ®x
AC) Tt
D) ¥ & 1 7t

99. I/ % fha e 7
(A) =R
(B) &1
(€) o
(D) 1 @ ¥ e

W’wmuﬁaﬁ_g 2
(A) @it

e ® T
iim-'ﬁl’ (©) @l

(D) 0 Q@ ad o

—_ Hfym

100.

S —
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